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3.0A.3 Use multiplication
and division within 100

to solve word problems

in situations involving

equal groups, arrays, and
measurement quantities, ...
Also 3.0A.1,3.0A.5
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3.0A.3 Use multiplication
and division within 100

to solve word problems

in situations involving
equal groups, arrays, and
measurement quantities, ...
Also 3.0A.1,3.0A.5
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B e Reteaching n
Set A, pages 100-101 —
(& TERvENTION
Find the total number of counters. Remember that multiplication is a
0 00 00 quick way of joining equal groups.
Copy and complete.
Ther%groups of 2 counters.
. . 1.0 0 2groupsof
You €an iaddltlon to join groups. ... .0. c M
2+2+2 /\ 2x =
You can also multi join equal groups. 2. 00 00 00 3oupsof
o0 00 00 6+ + M =
3x2=6 @ o0 00 00 ; -
X =
S0,2+2+2=3x2. :
7.
Set B, pages 102-105
Draw an array to show 2 x 3. Remember to use the
Then write the product. A Commutative (Order) Property
This array shows [l Il Il 2rows of Multiplication.
2 rows of 3. Il B B 3ineachrow Oaw an array to show each fact.
3+3=60r2x3=6. M’cheproduct.

Draw an array to show 3 x 2. @4 2. 3x5 3. 4x4

This array shows [l Il 3 rows 4. 7 X 1%6 6. 2x8
3 rows of 2. B W 2ineachrow ’ \ ’
R Copy and ¢ each number
2+2+42=60r3x2=6. sentence. Dra &to help.
3

The Commutative (Order) Property of 7.5x =10 T3 X = 21
Multiplication says you can multiply numbers 2% =10 7 021
in any order and the product is the same.

2xX3=3x2. 9.2x =12 10.4x 4

6x =12 6 x 4/}

O

000200010270782202_Topic4_p110-111.pdf 110 @ 8/7112 7:48 AM ‘




Set C, pages 106-107

Write a multiplication story for 3 x 5.
Draw a picture to find the product.

ssica is putting pretzels into 3 bags.
he will put 5 pretzels in each bag. How

@ pretzels does Jessica have in all?

& | & Q
& ® Gﬁ% &
Jessica has 15 pretze/@

4

Set D, pages 108-109

Remember that your multiplication
story should always end with
a question.

Write a multiplication story for
each. Draw a picture to find each
product.

1. 3 x9 2. 5%X6 3. 7X%X2

Write a multiplication story for each
picture. Use the picture to find the
product.

You can use words, pictures, numbers, or 0 ember that another person
g be able to follow your
I

symbols to explain an answer. When you
explain your answer to a problem, be sure
that you:

« clearly show your explanation using
words, pictures, numbers, or symbols.

« tell what the numbers mean in your
explanation.

« tell why you took certain steps.

‘ 000200010270782202_Topicd_p110-111.pdf 111 @

ex ion.

Solve. in how you found each
answer.
1. Gina earns $3'formaking
dinner and $ anging the

sheets on her bed”How much
will Ginaearnin o if

she makes dinner 3 and
changes the sheets onetime?

2. Jackis setting up tables for a
party. Each table has 6 chairs.
How many chairs does he need
for 10 tables?

O
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Multiple Choice

@ASSESSMENT

1. Which has the same value as 5 x 2? 4, Which number makes the second
(4-1) number sentence true? (4-3)

A5+2 9x7=63

B{<\2+2+2 : /X =63
2 +2+5 A 63

D 2®+/,+ 2+2 B 56
co
2. For the 4th of J n put flags in his D 7

yard as shown b Which number

sentence could ofinci hOW © 5. Which is a multiplication sentence
many flags Ron put d for this repeated addition? (4-1)

Bamamme
Q
@

6+6+6+6+6

PaPRPuPRP

e e
e ¢ sx5

A5+4=

O) 6 X6
B 4x5= 6% uying paper cups for the

C4+5= ach package has 8 cups.
How d he number of cups
D5-4=
change t umber of packages
increases

3. Which story could be solved with
7 X 87 (4-4)

(Packages 1 4 5

LCups 8 | 16 24@40

A There are 40 more cups f(@y
additional package.

B There are 40 fewer cups for e
additional package.

A Ben bought 7 bags of apples.
Each bag had 8 apples. How
many apples did Ben buy?

B Rob has 7 red fish and 8 orange
fish. How many fish does Rob
have in all?

1

N

C Tao had 8 math problems to

solve. He has solved 7 of them.
How many does he have left?

D Max has 7 pages in his album.

He has 8 pictures. How many
pictures can he put on each page?

000200010270782202_Topic4_p112-113.pdf 112

C There are 8 more cups for each
additional package.

D There are 8 fewer cups for each
additional package.
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Constructed Response

7. Write a repeated addition sentence
for8 x 6. (4-1)

8. Mrs. Salinas planted her flowers as

A shown in the picture below. Write a

number sentence that best shows
ow many she planted. (

%% %%
. Write a story that coul@ved
with 3 X 9. (4-4)
The Carroll family replaced th@

on their kitchen floor. A5 x 4 arraOE
of tiles fit the area. How many tiles /\

did they use? (4-2)

10.

11. How can knowing that 5 x 13 = 65
help you find the answer to 13 x 5?7

Explain. (4-3)

12. Complete the number sentence. (4-1)

7+7+7+7+7+7 = X 7

13. Hamid is putting books on shelves.
Each shelf holds 9 books. How does
the number of books change as

the number of shelves increases

by 1? (4-5)
(Shelves 1 2 3 4 5 W
LBooks 9 11827 | 36| 45 J

14.

15.

16.

17.

d
@I Julianna earn if she walks 2 dogs
@@shes 4 dogs? Explain how

Write the number that makes the
second number sentence true. (4-3)

5x4=20
4 x =20

Canyouwrite2 +3+4=9
as a multiplication sentence?
Explain. (4-1)

A marching band has 3 rows of
band members. There are 8 students
in each row. How many students

are in the band? Draw a picture to
help. 4-2)

Mason has 4 boxes of granola bars.
There are 5 granola bars in each
box. Write and solve a multiplication
sentence to find how many granola
bars Mason has. (4-4)

Julianna earns $3 for walking dogs
$5 for washing dogs. How much

d the answer using a

table.

(Walking 3 w
Dogs

Washing

LDogs $5 $20

£z

O
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Performance Task

@ASSESSMENT

You want to make a design using tiles. You have 24 tiles to use. Your
design must be set up in rows and have the same number of tiles in

each row.

1. Draw a picture of some of the t arrangements you can make.
Make at least 2 drawings.

circle around that design. Write a repeate ion sentence for

2. Choose one arrangement that you will us your design. Draw a
@
the array.

3. Lookat the repeated addition sentence that yo@
Write the repeated addition sentence as a multiplicat@ntence.

4, Write a multiplication story to go with your number sente

5. Write a multiplication sentence for each of the tile designs show
below. Explain how the tile designs show the Commutative Prope :

of Multiplication.
EEEEEE %,

@ Topic 4
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